Question Paper Title : PRELIM-3_P4

Date of Exam : 19-05-2018 09:30 AM

1 8/20 + 0.75-5/40 = ?

What is 8/20 + 0.75 - 5/40 ?

A.2.975
A.2.975

B.1.025
B.1.025

C.0.875
C.0.875

D.1.55
D.1.55

Answer: B.1.025
B.1.025

2 20/25 +2.5-10/25="7

What is 20/25 + 2.5 - 10/25 ?

A29
A29

B.2.7
B.2.7

C.0.975
C.0.975

D.1.225
D.1.225
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Answer: A29
A.29

3 715+85+055-(25-45-2+15)=

Whatis 715+ 85+ 0.55-(25-45-2+1.5)7?

A.19.05
A.19.05

B.18.7
B.18.7

C.18.55
C.18.55

D.18.45
D.18.45

Answer: B.18.7
B.18.7

4 AR BeR T UG Weolg 3T

Roger Federer is a famous player of

Afbde

A.cricket

B.Jpcaid
B.football

c.ef g

C.tennis

D SifeT
D.boxing

Answer: c.ef g

C.tennis
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5 WU HIoTT STelia sy YeTd AR 3H1R?

Which of the following items is a part of the State List?

A MRardd ddamr

A.Pilgrimages in India

B.C¥C STf0r &t

B.Trust and Trustees

C.THTIST JRET SHTIOT FreTforen fadn

C. Social security and social insurance

D. 9= HTut 3M1foT veft T Tvem

D.Protection of wild animals and birds

Answer: A MR arefamsT

A.Pilgrimages in India

6 SR @ 38 "R’ 31107 $ 3R TUNBR, R Jeliede! Jaid g™ Uaid ST 3e?

If @ = 'Divide' and $ = 'Multiply', then which is the smallest among the options?

A1T@5
A17@5

B.2$3.5
B.2$3.5

C.19@3
C.19@3

D.3$3
D.3$3

Answer: A.17@5
A17@5
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7 DS HRATAT Ue feard dsrd UaueT Hiur?

Who is the Prime Minister of Canada, who recently visited India?

A S Y
A.John Smith

B.3MIE [28]
B.Donald Trump

C TH Fh
C.Stephen Clark

DSk T8t

D.Justin Trudeau

Answer: DR g8l

D.Justin Trudeau

8 4.30 +5.25 + 6.75 - (4.30 + 5.25 - 9.75)

What is 4.30 + 5.25 + 6.75 - (4.30 + 5.25 - 9.75) ?

A.16.35

A.16.35

B.16.25

B.16.25

C.16.85

C.16.85

D.16.5

D.16.5
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Answer: D.16.5

D.16.5

9 ¥U.¥U¥Y... § SYUNHId SUTdR BT

How do you write 45.4545... as a fraction?

A.Ro0/]¢
A.100/18

B.2&0/3
B.160/3

C.400/%%
C.500/11

D.R/%¥
D.211/4

Answer: C.Ko0/Q
C.500/11

10 ATTATTeT ST dTed paledl Al gy AdeRuYTd Tl YR 33dd Sild

The number of seats in Lok Sabha allotted to different states is determined on the basis of
the states

A. 3R

A. Size

B. THaal

B. Population
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C.gareA

C.Resources

D. fi&®d

D. Income

Answer: B. dldal

B. Population

11 QIeiledeh| DIV SSTRHS @l &TH (Se5Ul) Bld?

Sunburn is caused by which one of the following radiation?

A.¢& fafezor
A. X radiation

B.EXgHM fHur
B. Visible radiation

C.3ffa-a fafeeor
C.UV radiation

D 3PS ST

D. Infrared radiation

Answer: C.3ffa-a fafeeor
C.UV radiation

12 HRATd Ufgel! SRTUMT et Siredt gicil?

When was the first population census conducted in India?

A.1872
A.1872
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B.1905
B.1905

C.1933
C.1933

D.19 51
D.1951

Answer: A.1872
A.1872

13 YRATIA BHIUIT [T SIS Faid Ufed [aHTaes S8, SaredT YUl agR 9R SHorgik guf
CIUSIRIK

In which city of India is the world's first airport to be powered totally by solar energy?

A B
A.Kochi

B.S5lIYR
B.Jaipur

C. PRI

C.Coimbatore

D.qu!

D.Pune

Answer: A.ﬁ?ﬁ
A.Kochi

14 JTeitedeh! TR YA SRS HIUTAT 3T 2

What is meant by civil equality?

A ARCIBT

A.Meritocracy

B. BT FoRd Jaool JH 3Ted.
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C gafard) gam Hef
C.Equal opportunity for all
D.feivT, 991, 397 STt STeit=n HforaTd HeHTd 7TdT.

D.Zero bias due to gender, race, colour, etc.

Answer: B.SHIIIAT FoRd Jaool JH 3Ted.
B.All are equal in eyes of law.

15 wﬁm,wmﬁwwm@m(w)ma@

The purpose of Radiation hardening in design of military aircraft, spacecraft & nuclear
weapons is

AXTSTRA THIM UG TRE0T

A. Protection from radiation damage

B.UfdPR HH! B!
B. To decrease resistance

C ST St IR

C. Use radiation energy

D841 Ufd®R &HaT drefaur

D. To increase air resistance

Answer: A XfSURM THIM URH TRET

A. Protection from radiation damage

16 ot 3R MY URYg 3fed

G R Gopinath is a famous

AT

A.Businessman

B.UDTg

B.Sportsman
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C ISHRUM

C.Politician

D.
D.Singer

Answer: ATt

A.Businessman

17 S 9% U] SUY o0/- TN fbTdiel fadhe, ATl T a¥g fadamT 0% dleT d gkl a%g
faDH TR 0% W1 T, ol a¥gaR THUI AT ST dieT fobdll JTar?

Two items are sold at Rs. 200 each, one at a loss of 20% and another at a profit of 20%.
What is the overall profit or loss?

A% Wl
A.1% profit

B.4% drel
B.5% loss

C.PIUATE! AT, JHa ATgt

C.No profit, no loss

D.¥% dicl
D.4% loss

Answer: D.¥% dlel
D.4% loss

18 T T & § 33.33% -t HIaT 8. AT S §TU g % 8T 3T8.
A is higher than B by 33.33% . Then B is lower than A by %.
A.300
A.300

B.&&.8&%
B.66.66
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C.¥oo0
C.400

D.RY4
D.25

Answer: D.R4

19

D.25

Answer:

20

1*0.1*0.01=

What is the value of 1 * 0.1 * 0.01

A.0.001
A.0.001

B.1.001
B.1.001

C.1.002
C.1.002

D.0.101
D.0.101

A.0.001
A.0.001

fodt 57 Sfare <req favqgd &,

Expand the acronym "Nifty"

A TSI T TR SR
A.National Institute of Fashion Technology

B.1$1Y o oty diffies fa=eyur S

B.National Institute of Financial & Technical Analysis

C.QHQHQ‘ - 50

C.NSE - 50
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D. It fassi=ar g et

D.Not Intended for Tertiary Sale

Answer: C.QHQHE‘ -50

C.NSE - 50

21 T ARt T Ui

Jhumpa Lahiri is a famous

A RIS
A.author

B.&hdl
B.poet

C.TMehT

C.singer

D. AT

D.dancer

Answer: AT

A.author

22 WU HIUTT STel= THad Yaid THIART 38?2

Which of the following items is a part of the Concurrent List?

A STOIRUS 30T AeaT

A.Markets and fairs

B.HRAIAIA AAHE
B.Pilgrimages in India

c.dad
C.Forests

D.dIug

D.Lighthouses
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Answer: Cc.dd
C.Forests

23 STEdT HISTUOTTST AR STOM=AT | 19 H1a°?

Name the instrument used for measuring humidity.

A SRR

A. Barometer

B gAY

B.Hygrometer
C.[pHHMER

C.Sphygmomanometer

D.yAfHIeR

D.Thermometer

Answer: B.EICI‘jIﬂIEQ

B.Hygrometer

24 I HIUMT G HIA-Tae TR 2018 T TEHF Ta A1gi?

Which of the following countries did not participate in the Commonwealth Games 20187

ARTR

A.Singapore

B.OTfhed™
B.Pakistan

C.AidpT
C.Sri Lanka

D.HI<d

D.Maldives

Answer: D.HATdGIG

D.Maldives
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25 TR i HRATd RIS U JHHR0T, YR SfaUHT SR Yaferd 3MTs.

The conferment of a person, as a citizen of India, is governed by of the Constitution of
India.

A.3IT=8G 5d 11

A.Articles 5 to 11

B.3 TG 1

B.Article 1

C3J®c2d4

C.Article2to 4

D.3Mw®¢ 12 d 14

D.Article 12 to 14

Answer: A.3fT®5G 5 d 11

A.Articles 5 to 11

26 40 AT 75% - 8/20 + 1.75 =

75% of 40 - 8/20 + 1.75 =

A.31.85
A.31.85

B.31.35
B.31.35

C.311
C.311

D.31.75
D.31.75

Answer: B.31.35
B.31.35

http://www.adda247.com/mr | Adda247mtApp | https://t.me/Adda247Marathi


Dell
Line

https://www.adda247.com/?_branch_match_id=1063345501081485536&utm_source=blog_marathi&utm_campaign=app_dl&utm_medium=branch&_branch_referrer=H4sIAAAAAAAAA8soKSkottLXT0xJSTQyMddLLCjQy8nMy9YP8k0xNKyqrAwtSAIAgC9SkCQAAAA=

27 YR (IS ST § SIHART 085 ST AT (NITI) STRIRT 3 AMHRU1 HRUATd 3Td. I
tat (NITI) TR 3{egef HIuT 3fed?

Planning commission of India was renamed as NITI Aayog on 1st Jan, 2015. Who is the
Chairperson of NITI Aayog?

AUduYy=
A.The Prime Minister

B.yUfd

B.The President
C. 31w

C.Finance Minister

D . BTIcT 30T =1 Hal

D.Minister of Law and Justice

Answer: A.GduY™
A.The Prime Minister

28 T@IE] Ga HIUATe] TRl 94 3ich aradl. SareRumire! I "Ih A " T8,
5d 150 3{h HISTel ST STYUT d HISIATT fobeil deaT 4 §T SichTel Hiwidl?

A child reads out all digits of any number. For example Hundred is "One Zero Zero". He
once speaks out all the digits of numbers from 5 to 150. How many times does he come
across the digit '4'?

A24
A24

B.30
B.30

C.34
C.34

D.32
D.32

Answer: C.34
C.34
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29 WU aid T8 Uaid Hivrar 31g 2

Which of the following options is the smallest?

A25+525+475-3.75+45-2.75+35+85
A25+525+475-3.75+45-275+35+85

B35+575-425+375+45+275+35-55
B35+575-425+3.75+45+275+35-55

C25+525+425+475-55+3.75+25-85
C25+525+425+475-55+375+25-85

D55+525+275+325+45+275-35+85
D55+525+275+325+45+275-35+8.5

Answer: C25+525+425+475-55+3.75+25-8.5
C25+525+425+475-55+3.75+25-85

30 QT HifereT ol @x: 1, 3, 3, 8, 6, 15, 10, 24,

Fill in the blank and complete the series: 1, 3, 3, 8, 6, 15, 10, 24,

A.31
A.31

B.27
B.27

C.15
C.15

D.21
D.21

Answer: C.15
C.15
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31 20 UM 2018 TR TRAIC 3NcifUes NfSTY 1T o 3LI& DIl 3Tgd?

Who is the Chairperson of Target Olympic Podium Scheme? (as on April 20, 2018)

A forar Rin
A.Milkha Singh

B.31fg faigr
B.Abhinav Bindra

C. TS yferam

C.Bhaichung Bhutia
D.7fq Tl
D.Geet Sethi

Answer:  B.3{f4Aq fagr
B.Abhinav Bindra

32 HRA Tf3em STTd Tafd HiaT 3iig 3T s eciHl g 3B

The Indian constitution is amongst the largest in the world and is made up of approximately
words.

A.80000
A.80000

B.120000
B.120000

C.145000
C.145000

D.225000
D.225000

Answer: C.145000
C.145000

http://www.adda247.com/mr | Adda247mtApp | https://t.me/Adda247Marathi


Dell
Line

https://www.adda247.com/?_branch_match_id=1063345501081485536&utm_source=blog_marathi&utm_campaign=app_dl&utm_medium=branch&_branch_referrer=H4sIAAAAAAAAA8soKSkottLXT0xJSTQyMddLLCjQy8nMy9YP8k0xNKyqrAwtSAIAgC9SkCQAAAA=

33 WA BIUICT & SHoll Tel?

Which of these is not a form of renewable energy?

A.TE 3ol
A.Wind Energy

B. ARGl

B. Solar Power

C. 3ol

C. Nuclear Power

DRI

D. Hydroelectricity

Answer: C.S-IW

C. Nuclear Power

34 YR 996 {3 fgue-1a S e Widd UNE § aRedl GHT]GTUET SR Rifad=rel 317g. 8T
fgde-ta g 1 SR SFHRET T,

India has a bicameral parliament with the lower house of the Parliament more powerful than
the upper house. This structure in the Indian Constitution was borrowed from

ASTde
A.UK

B.3AR®T
B.USA

C R

C.Russia

D.HS]
D.Canada

Answer: AE‘FITS’
A.UK
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35 U ST & =7 33.33% 32, 79 o 1 3f =T % 373,

Ais 33.33% of B. Then B is % of A.

A.R00
A.200

B.&&.&%
B.66.66

C.¥oo0
C.400

D.300
D.300

Answer: D.300
D.300

36 Qreitd Atferent gol H.
EDCB___

Fill in the blank and complete the series: EDCB

AA
AA

B.G
B.G

CZ
CZz

D.F
D.F

Answer: A.A
AA
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37 44 471 1/8 + 12 U1 20% + 0.25 * 60 =

What is 1/8 of 44 + 20% of 12 + 0.25 * 60 ?

A229
A229

B.24.4
B.24.4

C.24.9
C.24.9

D.22.15
D.22.15

Answer: A.22.9
A.229

38 90 U1 60% - 16/20 + 2.75 =

60% of 90 - 16/20 + 2.75 =

A.56.45
A.56.45

B.55.95
B.55.95

C.55.7
C.55.7

D.56.35
D.56.35

Answer: B.55.95
B.55.95
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39 Qelielih! gaid g $fquifes HIUTT 3Tg 2

Which of the following fractions is the least?

A.20/21
A.20/21

B.15/21
B.15/21

C.15/25
C.15/25

D.16/20
D.16/20

Answer: C.15/25
C.15/25

40 SR @ 3§ "HRTHR' 31T § 318 OMHR, IR WIed Uaiaiie! ga=a1 b Faid ST HIol
31872

If @ = 'Divide' and $ = 'Multiply', then which is the 2nd largest among the options?

A27@5
A27@5

B.1.5$4.25
B.1.5%4.25

C.22@3
C.22@3

D.3%$3
D.3$3

Answer: C.22@3
C.22@3
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41 YR HIUIAT Sf=dard 3 Ted 3le: "HuRISUMHIS! Uh 4e 3fid SuTd APyl Sfor
G GURTG 31dld, U TgUIS g i 3101 A qyT of o4 ufafedie 9urg sd.”

Which Article of the Constitution states: "There shall be a Parliament for the Union which
shall consist of the President and two Houses to be known respectively as the Council of
States and the House of the People. "

A3 =G 3

A.Article 3

B.3{ &G 7

B.Article 7

C.3=¢ 9

C.Article 9

D.3{Jw5q 79

D.Article 79

Answer: D.GFJ_%_CI 79

D.Article 79

42 SR @ 38 "HRTHR' 1T § 318 UMHR', IR [T Yaraiid! g1 i Faid HIST HIof
31?2
If @ = 'Divide' and $ = 'Multiply', then which is the 2nd largest among the options?

A41@5
A41@5

B.3.5$2.5
B.3.5$2.5

C.33@4
C.33@4

D.3.75%2.5
D.3.75%2.5

Answer: B.3.5$2.5
B.3.5%2.5
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43 450 +3.25 + 4.35 - (4.5 - 2.75 - 2.25)

What is 4.50 + 3.25 +4.35-(4.5-2.75-2.25)?

A12.6
A12.6

B.12.45
B.12.45

C.12.35
C.12.35

D.12.95
D.12.95

Answer: A.12.6
A.12.6

44 TGt T YUTTeiT=R Wiefieitep! v i dsefid sed?

Which of the following committees is associated with Panchayati Raj System?

A Sddd T Hgdl i

A.Balwant Rai Mehta Committee

B IMIoId HiHdt

B.Ramanujam committee

C.3{oTY Rjehx Pl
C.Ajay Shankar Committee

D.UT. T.3R. AIYd §9 UAd
D.Prof. NR Madhava Menon Panel

Answer: A gddd I Agdl I
A.Balwant Rai Mehta Committee
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45 WTeierden! Fatd g Ui HIoTdT 378 ?
Which of the following options is the smallest?
A5-15+10-15-10-5+2+4-8-10
A5-15+10-15-10-5+2+4-8-10
B35-12+10+15-5-5+2-4+8-10
B35-12+10+15-5-5+2-4+8-10
C5+5-10-12+10+5-2+4+8-10
C5+5-10-12+10+5-2+4+8-10
D.15-25+10-15-10-5-2-4+8-5
D.15-25+10-15-10-5-2-4+8-5

Answer: A5-15+10-15-10-5+2+4-8-10
A5-15+10-15-10-5+2+4-8-10

46 REIRES RS 1221031 o SR o o |
The unit for measurement of power of lensis
A. e
A.connector
B. 3{4Tekil
B.horsepower
C.SHIUR
C.diopter
D.URY®
D.parsec

Answer: C.SIZIVICIEj
C.diopter
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47 BTN febar HIA It HRATIS HIUTT AT aTE?

The Kaveri or Cauvery flows through which Indian states?

AFHlcH 3T dIHSIg

A.Karnataka and Tamil Nadu

B.R®, HAlch AT dIiHesIg
B.Kerala, Karnataka and Tamil Nadu

C.3{T8 USRI, Hriicd AT ATfies-rg

C.Andhra Pradesh, Karnataka and Tamil Nadu

D. 38 TR, Hlcdh, Bied 30T dlfHes-rg

D.Andhra Pradesh, Karnataka, Kerala and Tamil Nadu

Answer: A.Fledm T aifierg

A.Karnataka and Tamil Nadu

48 Tt Al MATHR DR ... T TUTeHTeS 3R,

The spherical shape of a small drop if rain is due to

A fdsafear

A.Viscosity

B.g§HIIg dror

B.Surface Tension

C.daIdTaRUITT ald
C.Atmospheric Pressure

D.T®¥d
D.Gravity

Answer: B.E[E[‘J-ﬂ"ﬂ?l [S1L

B.Surface Tension
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49 U] HIUAT I SHHT HRaT=aT S Jrmiie Argid 2

Which of these states does not share a border with India?

AN
A.Bhutan

B. 3R
B.Afghanistan

cdH
C.China

D.®HHR
D.Myanmar

Answer: B. 3TN
B.Afghanistan

50 YRAKITS GaIaie! &0t ATl fhRuS! Agl?

Which of the following states of India does NOT have a coastline?

ATIEH sTe
A.West Bengal

ERISNK
B.Gujarat

C.3fifear

C.Orissa
D.3RTS
D.Jharkhand

Answer: D.3RAS
D.Jharkhand

http://www.adda247.com/mr | Adda247mtApp | https://t.me/Adda247Marathi


Dell
Line

https://www.adda247.com/?_branch_match_id=1063345501081485536&utm_source=blog_marathi&utm_campaign=app_dl&utm_medium=branch&_branch_referrer=H4sIAAAAAAAAA8soKSkottLXT0xJSTQyMddLLCjQy8nMy9YP8k0xNKyqrAwtSAIAgC9SkCQAAAA=

51 Sfgd Hu= SfAgNIdid Hald =T Ga<! Wt fahd ST a7 3e?

Who has the record as the most successful doubles player in the history of Davis Cup ?

A IR faearg

A.Serena Williams

B.®@-Y facaw

B.Venus Williams

c.fats oy

C.Leander Paes

D. AT Favifaeiar

D.Martina Navratilova

Answer: C.fotsr o9

C.Leander Paes

52 O] HIUAT I SHAT HRaT=T S Jriie Argld 2

Which of these states does not share a border with India?

AHdHT
A.Bhutan

B. 3BT
B.Afghanistan

cdH
C.China

D.HHHR
D.Myanmar

Answer: B. 3BT
B.Afghanistan
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53 39N 1/6 + 70 U1 40% + 0.25 * 150 =

What is 1/6 of 39 + 40% of 70 + 0.25 * 150 ?

A.73.5
A.73.5

B.74
B.74

C.72
C.72

D.71.25
D.71.25

Answer: C.72
C.72

54 ATS O UTaRAT Ryeaidn URIG! SuaTd 3Tal.

The theory of Laissez Faire was famously coined by

A TRl
A.Marshall

B.31sH Y
B.Adam Smith

C.HIYH
C.Malthus

D. Bl
D.Kotler

Answer: B.3feH [y
B.Adam Smith
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95

Answer:

56

Answer:

e PR URig BId

Shashi Kapoor was a famous

A TSRO

A.Politician

B.U3Tg

B.Sportsman

C. AT
C.Actor

D. g
D.Singer

C.3{f=ar
C.Actor

SHe U 3.

Father of email is

A TR deof
A.Charles Babbage

B.X Il

B.Ray Tomilson

c.dv s <ft

C.Tim Berners Lee

D.UId dh1Y
D.Paul Bechheit

B.X Il

B.Ray Tomilson
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57

Answer:

58

Answer:

Wit Jaid A8 YT HIoTdT 3MTe?

Which is the smallest among the following options?

A. 350 9 30%
A.30% of 350

B.1300 T 1/4
B.1/4 of 1300

C.0.35* 900
C.0.35* 900

D.900 T 2/5
D.2/5 of 900

A. 350 9 30%
A.30% of 350

W Ut TR gld

Roman Polanski was a famous

AITSHRUf

A.Politician

B.UDTg

B.Sportsman

C.Phcl[hR
C.Artist

D fae=ie

D.Director

D.feexi®

D.Director
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59 RIS TTHIUN ASIR §HT DTIGT HIUIT a8 HoR LTeA?

In which year was National Rural Employment Guarantee Act passed?

A.2005
A.2005

B.2007
B.2007

C.2011
C.20M

D.2013
D.2013

Answer: A.2005
A.2005

60 SR @ 318 '+ 3T $ 31T ', TR WieiidUe! Jafd T8 YAl HIvrdr 3g?

If @ is '+'and $ is ', then which of the following options is the smallest?

A5315@10$15310$5@2@4$8$ 10
A5315@10$15310$5@2@ 4 $8$ 10

B35$12@10@15$5%5@2%$4@8$ 10
B35312@10@15$5%$5@2%4@8$ 10

C5@5%$10$12@10@5%2@4@8$ 10
C5@5%$10$12@10@5%$2@4@8$ 10

D15$25@10$15$10$5%$2$4@8%5
D.15$25@10$15$10$5%$2$4@8%5

Answer: A5%$15@10%$15%10%$5@2@4%$8%10
A5$15@10$15$10$5@2@4$8$ 10
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61 SR @ 38 "HRTIHR' 31T § 3R TOMHR, R WIelade! Jdid A Uaid HIord a2

If @ = 'Divide' and $ = 'Multiply', then which is the smallest among the options?

A.33@5
A.33@5

B.4.5%4.5
B.4.5%4.5

C.31@4
C.31@4

D.3%$4.5
D.3%4.5

Answer: A.33@5
A.33@5

62 QIelielueh! §aid T8 $qUlfeh IV 35 2

Which is the smallest among the following fractions?

A.1/999
A.1/999

B.2/1000
B.2/1000

C.1/1000
C.1/1000

D.2/999
D.2/999

Answer: C.1/1000
C.1/1000
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63 100 3 AT AIHMATET ABHS HTSTOATH diadT dTed A Jelaie! &1 HIRUT 38?2

More severe burns are caused by steam at 100 degree Celsius. This is due to

A 3= i1y SSHTURS T
A.High specific heat

B.¥fRrer ufchan

B.Fusion process

C.3= 3{UhC 3CH]
C.High latent heat

D.fods ufshan

D.Fission process

Answer: C.3™ 3{Udhc 3]
C.High latent heat

64 WA DIV WER G- HRA Tl ST 318 UUT SHe=md Uegy ATgl?

Which among the following cities is the capital of two Indian states but not a union territory?

ATENTS

A.Chandigarh

B.UTcUN
B.Patna

c.Ren
C.Simla

D.8eREIg

D.Hyderabad

Answer: D.%GQIEIE

D.Hyderabad
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65

Answer:

66

Answer:

Tdt feceia SnfRrars et Wyl Hef uR usal?

When were the Asian Games held in New Delhi ?

A.1982
A.1982

B.1986
B.1986

C.2008
C.2008

D.2000
D.2000

A.1982
A.1982

Tf e I Ui, U 3e@al Wi,

Erwin Rommel is famously known as

A SOC B
A.Desert Fox

B.dTeddc HIGR
B.Desert Cat
C.gide g
C.Desert Lion

D.dlesdc drg
D.Desert Tiger

A S i
A.Desert Fox
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67 4571 1/18 + 12 <41 20% <41 200% + 0.30 * 120 =

What is 1/18 of 45 + 200% of 20% of 12 + 0.30 * 120 ?

A.43.3
A43.3

B.44.8
B.44.8

C.453
C.45.3

D.42.55
D.42.55

Answer: A.43.3
A.43.3

68

Answer:

120 A1 30% - 10/40 + 1.5 =

30% of 120 - 10/40 + 1.5 =

A.37.25
A.37.25

B.37.75
B.37.75

C.37
C.37

D.37.65
D.37.65

A.37.25
A.37.25
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69 ST TRIGR FHY IATGAd HRA hHidh 3‘”%

Rank of India in global production of sugarcane is

A1
A1

B.2
B.2

C.3
C.3

D.4
D.4

Answer: B.2
B.2

70 WTetadd! gafd T gl B0 38 2

Which of the following fractions is the largest?

A.75/76
A.75/76

B.74/75
B.74/75

C.76/78
C.76/78

D.71/75
D.71/75

Answer: A.75/76
A.75/76
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71

Answer:

72

YRATAT VAU go&iaTad W] HIv SRTd 3Mg?

Which of the following is false about the amendments to the Constitution of India?

A TRy FaTes el Wefid SridiedT g%l dgaiRl Xsd faurHS®igR HeR Bd
IOl 31D 3G

A.Amendments which pertain to the federal nature of the Constitution must be ratified by a
majority of state legislatures.

B. AT g%l HRUTTH! UlchdT U1 3ifwic 368 U 3Tg.
B.The procedure to amend the Constitution is laid out in Article 368 of the Constitution.

cwwﬁﬁwﬁwmﬂwmﬁmaﬁmwﬁwﬁiﬁﬁmm
i AdGH bR o [d8gd HoR gid Wb

C.An amendment bill must be passed by each House of the Parliament by a majority of the
total membership of that House when at least two-thirds members are present and have
voted.

D. ST YA TR, AFYH 123 T 306 3 39 3 DI [Aurdes, S dauTe
GO STIIHl T8, d RS Hee Rehelld, .

D.During recess of Parliament, President can promulgate ordinances which needs
constitutional amendment, under his legislative powers per Article 123, Chapter Il

D. ST YA TR, JAFUCH 123 T 306 3 39 3 PIUis! [AUIeD, S HauTe
GOl STaRIH Al 3T, o TSI H¥e b, .

D.During recess of Parliament, President can promulgate ordinances which needs
constitutional amendment, under his legislative powers per Article 123, Chapter Il

dG=T IO Iy faumay=a Rasueten deuid, Rasud e JaR 9iex dat
1S Rehdl.

In respect of elections to the Parliament and State Legislatures, election petition can be
filed before the

A3 ATy
A.High Court

B. gl <arITey
B.Supreme Court

c.Fasu® S

C.Election Commission
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D IIyudt

D.President

Answer: A.3™ GIAAY
A.High Court

73 Jeitd Hrferent gul He.
LEMAMJJA

Fill in the blank and complete the series: J, F, M, A, M, J, J, A,

AP
AP

B.J
B.J

C.S
C.S

D.A
D.A

Answer: C.S
C.S

74 o) IHRAH Uh U

Cho Ramaswamy was a famous

A TRI®H
A.Writer

B.cfRITg

B.Tennis Player

C.IMg%
C.Singer

D33P

4
CICTTIUOL
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Answer: A.aw
A.Writer

75 Yoo §IT BTN Q0% T 4% fabelt giard ?

What is 10% of 5% of 4007

A.¢00 T 0% T W%
A.10% of 5% of 800

B.R0o T R0% =HT 0%
B.20% of 10% of 100

C.Roo T W% =l W%
C.5% of 5% of 200

D.R00 AT 0% AT ¥0%
D.10% of 40% of 200

Answer: B.20o0o T k0% AT 20%
B.20% of 10% of 100

76 YR AfIUTT=AT TYET IR HROMAT S U7 5 9 fSHaR 1946 Ioit i
S EfaTe STl

The Constituent Assembly that drafted the Constitution of India first met on December 9,
1946 under the presidency of

AS AR, ESHT
A.B R Ambedkar

B.Sf. faeHg
B. Dr. Sachidanand

C. 3. Iolgudre

C.Dr. Rajendraprasad

D It ISANATATaRY
D.C Rajagopalachari
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Answer: B.Sl. gf=igrc

B. Dr. Sachidanand

77 YR Sy =7 YA G HedTyHIu YT S0 gSiahrunidl Ieid dal
e 38,

Forms of Oaths and affirmations is mentioned in the schedule of the Constitution of
India.

ATfge

A.1st

B.gIl
B.2nd

c.foa=n
C.3rd

DT
D.4th

Answer: C.fag=ar
C.3rd

78 54 A1 1/12 + 40 =T 15% U1 200% + 0.40 * 140 =

What is 1/12 of 54 + 200% of 15% of 40 + 0.40 * 140 ?

A.74
A.74

B.74.5
B.74.5

C.71.75
C.71.75

D.72.5
D.72.5
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Answer: D.72.5
D.72.5

79 455+525+35-(1.55+525-35)=

What is 4.55 + 525+ 3.5-(1.55+5.25-3.5) 7

A.9.75
A.9.75

B.10.35
B.10.35

C.10
C.10

D.9.85
D.9.85

Answer: C.10
C.10

80 FTeieder! Fard g Gaid HIoTdT 3Tg ?

Which of the following options is the smallest?

A.25 <1 10% + 200 =T 15% - 300 =T 30%
A.10% of 25 + 15% of 200 - 30% of 300

B.25 =T 30% - 150 =T 25% + 300 =T 5%
B.30% of 25 - 25% of 150 + 5% of 300

C.200 =T 5% + 100 =41 15% - 250 =T 30%
C.5% of 200 + 15% of 100 - 30% of 250

D.100 =41 10% - 100 =T 25% + 250 <41 5%
D.20% of 100 - 25% of 100 + 5% of 250

Answer: A.25 <41 10% + 200 =HT 15% - 300 =T 30%
A.10% of 25 + 15% of 200 - 30% of 300
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81 R wfRrR e fYd e

Siachen Glacier is located in

A ST 3{TI0T HIRAR

A.Jammu & Kashmir

B.3RI&S
B.Uttarakhand

c.feuraa uew

C.Himachal Pradesh

D.3JWR U™

D.Uttar Pradesh

Answer: A.G’JJ{L\HTW[ PHIRAR

A.Jammu & Kashmir

82 3R ERIAHT U IASTUTS DI 382 o ARG 3iegel Terna! W R ufga
Tes YR ARG 35

Who is the governor of the state of Louisiana who has become the first Indian-American to
run for president of US?

AZS T

A.Indra Nooyi
B.®TH Ucd

B.Karsan Patel
C gl foferd
C.Bobby Jindal

D 2 SH
D.Dipak Jain

Answer: C.dl&! figra
C.Bobby Jindal
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83 O AT QI HIUT b,

was the founder of Mughal power.

ATHR,

A. Humayun

B.dTeR
B. Babur

C.3hdR
C.Akbar

D 3sfed wleht

D.lbrahim Lodi

Answer: B.dTeR
B. Babur

84 Ae@yU UfaeTRie Hod T e o

The writing of critical historical narrative is called

A guiceq
A.Epigraphy

B. HIYTIRTA
B.Linguistics

C 3fdgreaed

C.Historiography
D ATofi=Id

D.Numismatics

Answer: C sfagracRad

C.Historiography
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85

Answer:

86

Answer:

ST DI L& I 3Te?

Who is the chairman of the Inter State Council?

ATgHA

A.Home Minister

B.Gdue™
B.Prime Minister

C gt

C.President
D. 3u=

D.Finance Minister

B.Gdue™
B.Prime Minister

WIActeh! HIUAT Wb 3eRIe Add Yoo Tel?

Which of the following is NOT an Olympic sport?

AT
A.Squash

B. W
B. Fencing

C g

C.Rowing
D.gluydH
D.Triathlon

ATH
A.Squash
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87

Answer:

88

Answer:

ST Y WIeitade! HIvTdT STedT A ATgl?

Which of the following does not feature in the Union List?

A MR TR&f0T

A.Defence of India

B. AT PIUATG! TR GaT dHTd B0
B.Deployment of any armed forces of the Union

C.[PelHe] YN TR, 31T ST TS RIS AT

C.Delimitation of [cantonment] areas, local self-government in such areas

D. U
D.Police

D. U
D.Police

JRIITYURIGE  3ed

Anurag Basu is a famous

A feesie

A.Director

B.oST®

B.Scientist

C ISTHRUN

C.Politician

DI
D.Singer

A feexi®

A.Director
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89 2014 HeY AT fearest 3iffeifUe B giat?

Where was the Winter Olympics held in 2014?

AT
A.Sochi

B.&PI
B.Pyeongchang

c.eRA

C.Turin

D.3NTehT
D.Osaka

Answer: A.‘v’ﬁ?ﬂ
A.Sochi

90 HTeiader! Fatd e Ui HIOTdT 3Tg 2

Which of the following options is the smallest?

A25+5+10-12+10+5-2+4-8-10
A25+5+10-12+10+5-2+4-8-10

B15-5+10-15-10-5-2-4+8-10
B.15-5+10-15-10-5-2-4+8-10

C5+5-10-12+10+5-2+4-8-10
C5+5-10-12+10+5-2+4-8-10

D45+5+10-15-10-5+2-4+8-10
D45+5+10-15-10-5+2-4+8-10

Answer: B.15-5+10-15-10-5-2-4+8-10
B.15-5+10-15-10-5-2-4+8-10
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91 ISIoH YRART IGHAfET ame

Moody’s upgraded India’s sovereign rating to

A.JT31T 2
A.Baa2

B.d131T 3
B.Baa3

Cc.ut@
C.AAA

D.U3
D.A3

Answer: AT 2
A.Baa2

92 HRATI S i AAaar] ™M1 asS Al 7ol

The Supreme Court of India was established in the year

A.1947
A.1947

B.1949
B.1949

C.1950
C.1950

D.1952
D.1952

Answer: C.1950
C.1950

http://www.adda247.com/mr | Adda247mtApp | https://t.me/Adda247Marathi


Dell
Line

https://www.adda247.com/?_branch_match_id=1063345501081485536&utm_source=blog_marathi&utm_campaign=app_dl&utm_medium=branch&_branch_referrer=H4sIAAAAAAAAA8soKSkottLXT0xJSTQyMddLLCjQy8nMy9YP8k0xNKyqrAwtSAIAgC9SkCQAAAA=

93 W] Jaid A8 YTy HIordT 3078 2

Which of the following options is the smallest?

A25+525+475-3.75+45-275+35+85
A25+525+475-3.75+45-275+35+85

B.3.5+575-425+375+45+275+35-55
B.3.5+575-425+3.75+45+275+35-55

C25+525+425+475-55+375+25-85
C25+525+425+475-55+3.75+25-8.5

D55+525+275+325+45+275-35+8.5
D55+525+275+325+45+275-35+85

Answer: C25+525+425+475-55+375+25-85
C25+525+425+475-55+375+25-85

94 A& d od U 3Ted

Michael Dell is a famous

A agrt

A.Businessman

B.UDTg

B.Sportsman
C SIhRUfl

C.Politician
BRIIPEA
D.Singer

Answer: A It

A.Businessman
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95 RSIE dord Aol TR a1 &1 Xg! TN Aararett 14 T faT SN $g IRHRAT B

TegAld g1 YHIUId dTe HRUgT RIGRY &l gidl.

The 14th Finance Commission headed by former Reserve Bank of India governor, YV
Reddy, recommended an increase in the share of states in the centre's tax revenue from

the

A.32% d 42%
A.32% to 42%

B.25% d 33%
B.25% to 33%

C.33% d 40%
C.33% to 40%

D.33% d 50%
D.33% to 50%

Answer:  A.32% d 42%
A.32% to 42%

96 2017 Teit Tieft AT RIBRI HIUTA FHAT HRUATd T Bl ?

Who won the Gandhi Peace Prize 20177

ARTeH TER AT 3R e
A.Ralph Nader and Omar Barghouti

B.gYW% HdTcT
B.Yousuf Malala

C.SRI& 3NEMT
C.Barack Obama

D. A Hadl

D.Nelson Mandela

Answer: C.RI& NS
C.Barack Obama
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97 TTeite qafaiie! gu=aT shHidTar Jaid dgH HIv 3MTg?

Which is the 2nd smallest from among the given options?

A. 350 ¥ 30%
A.30% of 350

B.1300 T 1/4
B.1/4 of 1300

C.0.35* 900
C.0.35* 900

D.900 dT 2/5
D.2/5 of 900

Answer: C.0.35*900
C.0.35*900

98 80 =1 25% - 20/25 + 2.5 =

25% of 80 -20/26+25=__

A22.2

A22.2

B.21.45

B.21.45

C.221

C.22.1

D.21.7

D.21.7
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Answer: D.21.7

D.21.7

99 YR IUD ST AT S0 Jafd i el A7 3Te?

Which is currently the longest train route in the Indian Subcontinent?

A DHUIHHR] - FTH Tt

A.Kanyakumari - Jammu Tawi

B.f&S1G - HATHHR]
B.Dibrugarh - Kanyakumari

C. 1A qdt Sfor HraR ded

C.Jammu Tawi and Mangalore Central

D.IRIGARR, AR o fagTe
D.Yeswanthpur, Bangalore to Dibrugarh

Answer:  B.[S§TE - HAIHHARI
B.Dibrugarh - Kanyakumari

100 YRR 1T B SRS U Wefeiidh! Il et 35 ?
) T 31l gIH
o) GTeTHTS ARTSI
) fe2r arest

Who among the following is credited with being a founder of the Indian National Congress?
A) A O Hume

B) Dadabhai Naoroji

C) Dinshaw Wachchaa

AT 31T &
A.Aand B

B. 3{1for 4t
B.Band C

http://www.adda247.com/mr | Adda247mtApp | https://t.me/Adda247Marathi


Dell
Line

https://www.adda247.com/?_branch_match_id=1063345501081485536&utm_source=blog_marathi&utm_campaign=app_dl&utm_medium=branch&_branch_referrer=H4sIAAAAAAAAA8soKSkottLXT0xJSTQyMddLLCjQy8nMy9YP8k0xNKyqrAwtSAIAgC9SkCQAAAA=

C.T 3{Tfor &t
C.AandB

D.Q, &t 3f1for <t
D.A,Band C

Answer: D.U, ot ayrfor 4t
D.A,Band C
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